by The Campus League of Puzzlers

Solution to BOXED IN:
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The across and down entries disagree in each of
the shaded squares. The across entry ends in BOX,
while the down entry includes a single letter in that
square. This suggests reading the letters in these
boxes, which gives the answer JACK. Congratula-
tions to Justin A., cw203, and phenomist who were
the first three to submit the correct answer to last
week’s puzzle on our website.

The annual Berkeley Mystery Hunt will be
held May 3, 2015. Registration is now open at
https://oskileaks.org. Get together up to nine of
your friends and get ready to solve some puzzles!

This column is the sixth in our ongoing series.
When you think you know the answer, submit it on
our website (http://puzzle.berkeley.edu).

Week 6: A Collective of Puzzles
(1) (2)

ALIGN BRONX ZOO

SURER EN PASSANT

HEFT JLO

TROPHY COLD FUSION

WEED

SLANDER

PINION

ASCENT

3) (4

EGGPLANT  EMPIRICAL

QUAALUDE  EMAIL

COMMA EMBALM
OPAL
ARMADILLO
WYOMING

5)

CHESS

CROWN

GRAPE

POACH

WELSH

https://www.facebook.com/CalPuzzlers



